TR

A view

W7 =HLT—%4 / Technical Datall MR / Components
No. Z ¥ / Part name = / Pcs #ME / Material 8- REAIE / ColorFinish
4TIV / Recommended torque T—F—Jnvs FILIA A% v~ ADC12 SILN— , TSwh g
NATYTARILEM3x10 / Hexagonal M3-10 : 0.2N*m 1 Corner block ! Diecast aluminium ADC12 Silver , Black=Painted (Unfinished inside)
Rtk TILEHRH# A6063S-T5 DW=, TSV TILIANY )T EE
7’3:’<’5‘WE‘/7°EZM5X8 / Self—tapping pan head M5-8 : 1.5N=m 2 Frame 2 Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
ZDOHhE R / Other screws : 0.3N*m ~ 0.6N-m 2 IL—L . TILSIRH A A6063S-T5 DIN— TS TN T BE
Panel support frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
. 2RIV ) TILSHR A1100P DIN—  TZY- TR
Panel Aluminium A1100P Silver , Black*Anodized
5 Hi— ! TILSHR A1100P DIN—  TZY- TR
Top cover Aluminium A1100P Silver , Black+*Anodized
6 FTHh— ] 7 LR A1100P DIN—, TZY- TR
Bottom cover Aluminium A1100P Silver , Black*Anodized
; aA—F—H—F o TPE (TZ5Rh) T390, TJL—, RAE—, LYK
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
g | TTUTIEL 1 PU , PAG , ABS , AWCH 77v7. Ju=
Carrying handle Black , Gray
o EFE R (M3 x 8) " #% 2R
Screw (Flat head M3 — 8) Steel Nickel plated
0 EFER (REITUFAILIMS x 10) o # =EBo0A—+
Screw (Hexagonal M3-10) Steel Black trivalent chromate
y BFER (FREYELTMS x 8) . % =fE/OA—k
Screw (Self-tapping pan head M5-8) Steel Trivalent chromate

B4 (EERREOOQ) / Color Type (End of product numberd 1)

10

i85 / Code | 7JILEH—X / Aluminium enclosure a—+—#—FK / Corner guard X2 \2K)L / Carrying handle
SBB 2 JLiN— / Silver 5% / Black JT5v% / Black
SGB 2 JLiN— / Silver J'L— / Gray 7T5v% / Black
SNB 2 JLiN— / Silver FAE— / Navy T5v% / Black
SRB 2 JLiN— / Silver LK / Red 7T5v% / Black =% T
SBG 2 JLiN— / Silver J5v% / Black J'L— / Gray BXetahFEikT e A F—H— Rt vy —X () L“l
S GG 2 JLIN— / Silver J'L— / Gray JL— / Gray
SN G :/}I/I(— / Silver *4t— / Navy 7|/_ / Gray _ TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Portable Aluminium Instrument Case with Handle RJ’E/ScaIe
. . " A F2/Approved #2[X]/Checked X /Created 1% /Product number
SRG < JL1N\— / Silver Lk / Red JL— / Gray
BB B IS4 / Black IS4 / Black 54 / Black iR ¥ H¥ AUGH44-25-36-1010 sy
BGB 5% / Black 5'L— / Gray 7597 / Black
B NB 75w% / Black *AE— / Navy 7594 / Black fERB/Date 2024/09/27 171
BRB J5v4 / Black LK / Red J5w4 / Black AREOEFEIMIASHIHFERTEICRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




313

F view

R24

203

R52

C view

A view

D view

368

25

E view

250+ 0.5 (59— R4 iz / External)

A-A(1:5)

C-C(15)

®
®

©

S 3
®
®

/
37
o
22
B view 44+03

360+ 0.5 (r—R45 2 / External) (r—R45 % / External)

1
L

md/Title
BRRMANTFERTE I—F—H—FiFryr T —2

TAKACHI ELECTRONICS ENCLOSURE CO., LTD. | Portable Aluminium Instrument Case with Handle

o]

7 5%/ Approved #%[X|/Checked #I[X/Created R F /Product number

thig T #F AUGH44-25-36-0000

RE/Scale
1:5

YERZ B /Date 2024/03/08

R— /Page

2 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

310
(4] " N\ " N
<t \/ \/ \/ \4
28 1275 28 4-5.5
: 73\ ’§]
B il

2-M3FH SN
2-M3 Countersunk

¥ Xt EHEFR / Same on the other side.
@ / Front side

D {l#% / D Frame

310

43

14

(S0 175
IS

2-M3FH 5%
2-M3 Countersunk
X RxtE+HEFE / Same on the other side.

@ / Front side

36.7

36.7

"_.‘:_-
e
.
=

3

33 33

3

3133 33/| 3

) n
\/ \/

n
\/

o)
\/

& / Back side

& / Back side

BRSUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title
GRS

Frame

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIF /Product number RIE/Scale
1:25
iR £ wF ~R—/Page
H44 - D360 {ERL B /Date 2024/09/18 3 /71

AREDEFEIBRREHINDTFER T EITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

200

2-M3FAY I}
2-M3 Countersunk

5 5

14

45

29

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
TL—L

Panel support frame

o]

755/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1:1
iR E: w4t —
W250 1ERLH/Date 2022/11/16 4 /1

AREDEFIEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\N2R)L / A Panel

200

33

R / Front side

B /\2~JL / B Panel

B~k / Max dim. 192 £0.5

XM / Front side

B~k / Max dim. 25 £0.3

1.5
REES— M
Surface protective film side

fREES — A ||

Surface protective film side

Z M / Back side

% / Back side

anda/Title
TAKACHI| #REH4hTFEHTE S O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:1
iR =3 wF R— /Page
H44 - W250 {ERL B /Date 2023/12/21 5 /1

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4

4-R14.7 220 4-@A5 2

AT / Max dim. 313+ 0.5

<
. o
g 8
FREE—Mal
Surface protective film side
ATk / Max dim. 203+ 0.5
R / Front side 2@ / Back side

i Title
RERHIATBRIE | i O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7R/ Approved #&[X/Checked #[X]/Created F& /Product number Rg/ft;a\se
iR ES Eaza) R=T/Page
W250 - D360 {ERL B /Date 2022/11/16 6 /7
AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4

4-R14.7 220 4-@A5 2

AT / Max dim. 313+ 0.5

<
. o
g 8
FREE—Mal
Surface protective film side
ATk / Max dim. 203+ 0.5
R / Front side 2@ / Back side

4/ Title
RARHINTBRIE | i O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
7R/ Approved #&[X/Checked #[X]/Created F& /Product number Rg/ft;a\se
iR ES Eaza) R=T/Page
W250 - D360 {ERL B /Date 2022/11/16 7717
AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	
	Sheets and Views
	Model
	AM_VIEW1
	AM_VIEW2
	AM_VIEW3
	AM_VIEW4
	AM_VIEW5
	AM_VIEW6






